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6,000,000& = 13l 6,000
cJIEEAH A3 100,000& * 123l 1,200
ool g =2st2t 2 3,000,000& * 23] 6,000
ollOtex8 130,000& * 63l 780
OJIEtHAL S22 M= 9,200
o ™ & XIH & 130& * 2,00000 *» 203 5,200
o =M 200,000& * 203l 4,000
301 AP B A 252,000 ,000 12,000
09 &AL HI B A S 252,000 ,000 12,000
OJlelsd =3 =
21,000,000& = 123l 252,000
A S X EZH 5,000 ,000 0
201 LBt 5,000 ,000 0
01 At 22l 5,000 ,000 0
OM4&EH Xz 5,000
o= A 500,000& = 53| 2,500
ocHIEH 500,000& * 53] 2,500
ESANE2E - 2l 2E 2| 3,600 ,600 0
202 oddl 2,100 , 100 0
01 = LH &4 1l 2,100 , 100 0
OZ3d AlL2elrtl 2,100,000& = 14 2,100
203 YR =&l 1,500 ,500 0
03 AIHZ=XH 2 =AH| 1,500 ,500 0
OLZ 2t A=A 1,500,000& * 14l 1,500
HSAL 22/(23LBR/AR) 724,208 654,415 69,793
SEHQ HNSAME 2¢ - 2l 724,208 654,415 69,793
HSAE 2d2c 320,594 ,594 80,000
101 @124l 10,000 ,000 0
04 JIZHHZ2Z2XNHESE S+ 10,000 ,000 0
O3JNE LAMAURL(ZAFCANEEFS 2
ZEAL) 10,000,000& * 14 10,000
201 Let24d] 130,594 ,594 0




M ox
40 5 4

DJIEBFAR &
CHESAE 2e(Esd22/HE)
P EEX MEAE 29 - 22

2N 2EHMSAEAMS L

A2 .2 B S(BH) - HRAY - BES il &t o il
01 At 22l 8,280 8,280
OMSAE otEs A2F7Y 8,280
oMEHN % e
Tbox * 280,000& = 12& 3,360
SN 10box * 41,0008 =* 12& 4,920
02 =224l 122,314 122,314
OHMSAE FXH 50,888
o MAIE & MO 1,000,000& * 14l 1,000
oY JA E M2 6,200,000& 14! 6,200
ods ¥ dERX 5,000,000& = 14 5,000
oZJ|x3 HHI®X 4,000,000& = 14! 4,000
o XYHEY AHIRX 1,300,000& * 14 1,300
odttel MEAH 4,000,000& * 14! 4,000
oHMSAE TA 2 25 3,000,0008 * 14 3,000
oczd4dHl FNE> 1,000,000& * 14l 1,000
odESI| I &l 1,500,000 = 2CH 3,000
o&d3x &Hl X 300,000& » 7002 2,100
oAET HIR |l 3,000,000& * 14 3,000
ST 2ZE KX 600,0008 * 3CH 1,800
cE4M Yo SUE X
5,000,000& = 14 5,000
CEHAIT 2RASUANE 2K
89,756,000& = 5% 4,488
oJAZIZE A oletelAINE SUAIERX
3,000,000 * 14 3,000
oRAZIZE A oletelAINE YEALERX
3,000,000 * 14 3,000
Otzs 2Bets |RANE=> 17,720
oIl2s RAE=S 80,000& * 34s 2,720
oHots RAE=S 80,000& 30 2,400
ofEdS E= 12,600,000& * 14 12,600
OM=SAE ZHl KX 20,530
oSS USRI 510,000,000& * 1.8% 9,180
oZEFINECCTVE XN E =
30,000,000& * 4.5% 1,350
oXMELE AMAE SAYI 5,000,000& * 204 A& 10,000
OMSAE S=5&&H 22N
300,000 » 30H A 900
Ozl 32,276
cAHUSEMSZ el 16,920
- 320RT 18,0002 * 1.6T » 8Al2H » 50 11,520
- 150RT ~ 18,000& =* 0.75T * 8Al 2t * 50 5,400
cAHUSEMS2 Wl 13,536
- 320RT 18,0003 * 1.6T » 8AI2H » 40 9,216




A= JIEFAIE & 2H  SSFAHSAEAMEL
HM: HEANL 2l (22T /HE)
Sel: BB HSAL 29 - 2 EEREED
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
- 150RT  18,000& =* 0.75T * 8Al2 = 40 4,320
ocllgz 6503 * 7AI2F = 404 = 100 1,820
401 Al B 2 0HHI 165,000 100,000 65,000
01 A& HI 165,000 100,000 65,000
O Alds2 2l2aa B A
100,000,000& = 14 100,000
OaAUHESS SSEH (AL, HZT S WAH)
50,000,000& * 14! 50,000
OHUAX X=0 L XS TS A
15,000,000& * 14! 15,000
405 XHakF SHI 15,000 0 15,000
01 A&t = FF SHI 15,000 0 15,000
OdUME2 0lss s720 ¢
15,000,000& * 14! 15,000
2SS 2922 79,705 78,231 1,474
101 2124 d| 49,755 47,781 1,974
04 J|2ZtH2ZXNEE S 49,755 47,781 1,974
OSSHIE 2el 31,254
PR = 47,6008 * 2% x 230 21,896
oxFaY 47,600 * 2% x 46 4,380
o ARt 47,6008 * 24 x 11¥ 1,048
oAzt S g
8,930& * 2% x 20Al2t * 11& 3,930
Ogex& 17,901
oJlgaz 47,6008 * 1Y x 2302 10,948
oxFFmaY 47,600 + 19 = 46 2,190
oA Xt 47,6008 * 14 x 11 524
oA g
8,930& * 1Y = 20AI2t = 11& 1,965
clEYE, MHEBEEZ 2,274
nagsgas 49,418,000& * 1.4% 692
MHEES 49,418,000& * 3.2% 1,582
(@RTE==3] 600
o OtM 5} 50,000& = 3H 150
o &3t 20,000& = 39 60
o229 30,000& * 3H 90
SESge g 100,000& =* 3Y 300
201 L2 Y| 4,200 4,200 0
01 At 22l Yl 4,200 4,200 0
O&Cl22| &bl =2yl 2,000,000& * 14 2,000
O&C7H U Ltz 550,000& = 43| 2,200
206 24 25,750 25,750 0




M ox
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DJIEBFAR &
CHESAE 2e(Esd22/HE)
P EEX MEAE 29 - 22

2N 2EHMSAEAMS L

AR SA Y- SAEA) - HRAY - BES il Bl RE2
01 M= 4l 25,750 25,750 0
OZCl 83 Mzl 25,750
o&tfl2el s 2¢ 9,000,000& * 14 9,000
oAl Zel BHEA ¢ 450,000& = 203l 9,000
oxCIBEl HIE 7Y
200,000& * 2HA = 53 2,000
oBAlg B XL(SXNEH) 25,000& = 150 3,750
o&Cl2tel sXM(ZEE) 2,000,0008 * 14 2,000
BE=ER3E 29 160,582 151,607 8,975
101 124 dl 66,182 63,707 2,475
04 JIZHHZ2XRHEES 66,182 63,707 2,475
O&sze=2d 62,505
=JIE= 47,6003 * 4% = 230 43,792
oFrsad 47,600 * 4H * 46 8,759
oot Y 47,6002 * 4% * 112 2,095
SAZtel &g
8,930% * 4 » 20AI2t » 11E 7,859
ONEEE MMEEE 2,877
cNEEEE 62,505,000& * 1.4% 876
oM EEZ 62,505,000& * 3.2% 2,001
Oul=l 800
o XY= 100,000& = 4% = 13 400
SRUFSE 50,000& * 4% 200
o &5t 20,0002 * 49H 80
o9 30,000& * 4% 120
2 Et2 H Y| 62,400 62,400 0
AtS 2tel ] 24,400 24,400 0
OArR 22l 8,800
cEESHMA(AUEXE S)
20,000& = 1004 2,000
CcHBIANRES 100,000& * 128 1,200
o & =0l & 100,000& * 304 3,000
SH2REZ 15,0008 = 2& = 128 360
o 22X OHAHI 7,0008 * 48 x 80 2,240
Ogxzg & 42357 15,600
oXMCFE FH =X 440,000& * 103l 4,400
oXMOTE 2 X 440,000& = 43| 1,760
oot EF F¥ 300,000& = 12& 3,600
cHAES 7¢ 70,000& ~ 12& 840
o AlZ&H =X 500,000& * 103l 5,000
02 23=2gl 38,000 38,000 0
Os&282= 38,000
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40 5 4

DJIEBFAR & 2N 2EHMSAEAMS L
CHESAE 2e(Esd22/HE)
P EEX MEAE 29 - 22

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
cxlEEE 2,000,000& = 13l 2,000
clol+=EAIEZ 400,000& = 123 4,800
ocHMI|ItM 2 450,000& * 12 5,400
CAZTANEZ(RAEAE) 250,000 * 12& 3,000
A2 RAE=> 1,500,000& = 12& 18,000
cKREFU(M=EIE) 400,000& = 123 4,800
206 = Hl 12,000 12,000 0
01 =8l 12,000 12,000 0
O&Cl2el M=l 12,000
oz 3,500,000& = 14 3,500
o HHALE 2 & 350,000& * 10% 3,500
ot 500,000& =* 43| 2,000
oEAE S&0 30,000& = 1007H 3,000
401 Al HI K 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
O Zg27d sl X A
20,000,000& * 14 20,000
SEXN HSAN&2Y - 2l 29F Y| 2,100 2,100 0
202 (4 Hl 2,100 2,100 0
01 = LH 4 b 2,100 2,100 0
OMs A& 2 2,100,000& = 14 2,100
=HSsdEH 29 30,000 50,000 A20,000
201 £B-2%H| 30,000 30,000 0
02 =224l 30,000 30,000 0
OA=sLASLH RAE=H|
30,000,000 * 14 30,000
HEHSLEH 2 131,227 131,883 A 656
101 @124l 16,347 17,003 A 656
04 JIZHHZ2Z2XNSE S+ 16,347 17,003 A 656
o302 15,627
=Jl2g 47,6003 * 1% = 230 10,948
oFFE 47,600& * 1H * 46¥ 2,190
SRG PN RS 47,600 = 1% » 11 524
SAlZtel g
8,930 * 18 * 20AI2F » 11 1,965
ONEEE MHEEE 720
c1EZE 15,627 ,000& * 1.4% 219
oMM EE 15,627,000& * 3.2% 501
201 £B-2dH| 114,880 114,880 0
01 At 22l 16,800 16,800 0




DJIEBFAR & 2N 2EHMSAEAMS L
CHESAE 2e(Esd22/HE)

M ox
40 5 4

P EEX MSAE -;-%4'
AR .24 - B S(BIH) - HRAY - BES il
OMENSsHH A7 16,800
cHAES 72 40,000& = 108 = 123l 4,800
oSEAAZEIL(MEI,IFEXS)
1,000,000& » 12& 12,000
02 =224l 98,080
O3 & HA 98,080
oMot EAMER 10,000,000& * 14 10,000
oXMIle=a 50,000,000& * 14l 50,000
cEIMNEREES 2,000,000& * 23] 4,000
cNERLRES 1,000,000& * 13l 1,000
SHSALHHERVESE
4,000,000& = 13l 4,000
CAUZHIUNAL4E
1,500,000& * 13l 1,500
CROIBYAIAY 8HB  250,0008 * 122 3,000
CHIGHEADRUB L
4,000,000& = 13l 4,000
°os5d)| RAEx EY=2  100,000& * 123 1,200
oIl HIIZHA == 100,000& * 13l 100
oYM E 3 I 100,000& * 13 100
cRULESFZE 40,000& = 12& 480
oHIAX 2k £
20,000& = 100&€ =« 23l 4,000
o &IIAIE S Xl 3,000,000 * 14l 3,000
U SAAE R 2,000,000& * 14 2,000
SPUSEAL SAB4 2,000,008 * 14 2,000
SOl &H RNSEL 4,000,0008 * 14! 4,000
cABUATLYIRN B4
1,000,000& * 14l 1,000
ocAgrdHl R AL 1,500,000& * 14 1,500
=o2AEI|HLH 287 7
500,000& = 23| 1,000
cotdze| Xt W=ESEH| 200,000& =« 13l 200
HY2FZH (2AMBAIE AL L) (JIEHIIE 22,438
Jl=234l 22,438
Jl23l 22,438
201 Let24E] 14,978
01 At 22l 14,478
Oget==EH| 4,500
o™¥A AMNRESEHI 1,000,000 = 14 1,000
odE ZHl=2ldl 2,300,000 * 14l 2,300
= J|Et =&H| 1,200,000 * 14 1,200
O= &l 9,978
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D JIEFAL A SN 2HASALALL
D HES2AAHI (S M AIE ALY A)(JIEHDIIE

Jl23l
A2 .2 B S(BH) - HRAY - BES il &t o il

oll2g® =¥ Z4ltl 5,050,000& 14! 5,050
oS2YR &3 ZA 4,928
¢ 7,000& = 8Y « 463l 2,576
- F7(N,K2l 1) 7,000& * 8Y « 423| 2,352

02 =224l 500 500
ozzea 500

CcRERI(SI], 28

1,750&3 * 208 ~ 12& 420
oTVedlg 6,600& » 128 80

202 04l 3,900 3,900

01 = LHA YI 3,900 3,900
OJI2ge =8l 3,900,000& * 14l 3,900

203 R =&t 3,560 3,560

02 A& H =& 560 560
OFAINHEFA 40,000 = 149 560

04 NI HSFAH 3,000 3,000
ORAN2EIRFA 250,000& ~ 123 3,000




